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6 L2 co1

Q.1 a, Obtain the lrourier

r-l*!-l*351

t, 
'

Ilenee cledrice

t,

e{ "_

in 0< x<2x

7 L2 co1b Find a cosine scrics lor [(x)=(x -l)=. 0<x < l.

7 L3 colc. coslne sefles y, where yin theco
1n tat-r le

X: 0

1S

aJ

1

4

6

5

2

Obtain the

6 r,2 cola. Expand the lirnction flx) : xsinx as a li'
*1,, 1-

- /L : A : /L

OUflef"!:.S*leS
,ll'li.. :r.:r

:t1?*. .::,,

interv4l
''.: - 

,,.-,.'

in theQ.2

7 1,2 colt, Obtain the lrourier scries tbr the lunction,
f. 4x 3ll+- rrr--<x<L)

r'(x)=] : 2 -'\"/ lr-1I ino<x.1132!J

Hence deduie that t= I * 1.+ {; ...

'.tjiiL:

;1 -ar&W
-rl?a,

v

c. 7 L3 co1cllrrent A over atable

sec )

T
'I0 TT

I

variatrons o1' a

J 2

r "05 1.30 -0.25 1.98-0.88

2"r

J

constant of
the first

in the curent A and also obtain

6

Show that
the

-2
6 L3 co2Q.3 a. Find the Fourier transfbrm of f(x) = ae

t-t
lr,

7 L2 co2b.
Find the FoLrrier sine trarisform oft-'^,a>0.

x

L2 ca27of cosh ne artd sinh n0Obtain the z-c.

lo1'3
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OR
6 L2 co2

Q.4 a Find the Fourier sine transform of f(x): {^. 0<x<2

[.0, else where

7 L3 co2b.
Compute the inverse z-transform of

322 +22
(sz - 1)(

7 L3 co2C. Solve by using z-transforms, Y,,.t * 2Y n with yo=0=yr

6 L2 co3Q"s a. Frt a dataline :ax+btbrthe

7 L2 co3

18 2729

J

2

30
29

x 6

wife 1ntheandhusbandof (v)(x) age

and of husbandlines age

) JJ
)1 29

following data gives
years. Form the two

to 16

27

of
29
21

b.

7 L2 co3by the method of leastFit an expo

5

I.1-'

6 97 8

55 223 7

of the forrn

data

No. of
No

c.

hence flnd the ient oflines of

52

8

9

t6
x 1 10 13

10 32

J 4

6 108

0btain
tbr the

6 L3 co3a.Q.6

7 L2 CO3b fit most

150 - 1 .390 .378
0
0 620

a bx+ +

1

2

closel to
x 1

a, b, c if theFind the

observations.

sub jects x and yof'I'en

Clo

62x 98 5 5

5368

78 36

84 5l
82

62

got the
rank

39
/1.+/

90

86

7 L3 co3(:.

6 L2 co4

x
4X

-1

3k

)andP 1

0 I

find P

k

that the
Hence

ind the value
probability

distribution represents a finite
its mean and stanclard deviation. Also

Q.7 ,

7 LI co4Derive the mean and standard deviation of Poissott distribution.b.

7 L3 co4(:.

i-,{Be&

-'*A6liBr}eE
1*,

#

-'#3-B
,t w'

2 ol'3

iModule *,

The

10

2

for

1 2

60

Module-4*

t_
K

ln a cluiz contest of answering 'Yes' or 'No', r.vhat is the probability of
gr"ressing atleast 6 answers correctly out of l0 cluestions askcd. i\lso tind the
probabilrty of the sarne ilthere are 4 options krr a correct anslver.
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OR
6 L2 co4

Q.8 a.
[* -,,Find the value of C suclt that f(x) = lo ' ''
lo.

r(t<x<z)

find

7 L3 co4b.

co47 L3c. In a normaldistribution 3l% of the
are over 64. Find the tnean and S.D.

items are under 45

of the clistribution.
of the,itemsand 8%

-5
co56 L2Q.e a. fbr tr.vo random ylsas

0

Y 5
') -t 4

1 0.1 a.2

2 0.2 0.1

probability distributions of x and y. Also finclDetermine the

The .joint probab ility distrib
tollows:

(i)
(ii)

ofx, y and xy.
ofx and y.

7 L1 cosSignificance levelDefirc
;f: 

(hypothesis
and lype-tt

b.

7 L3 cosc. A die is thror,vn 9000 tin-res and a throw of
Show that the die cannot be regarded as an

3240 tinres"

OR
co56 L3Q.10 a.

.':.t\ L--:.., ..
t "t\:'lt:"t:t':';:

rik

regarding tfreir

12 1 1
J e | 0,pr1g;Diet A 5 6 I

..3 lr, ls IO 1 2 8$l*al*Diet B 2

ti

eff'ect onTest AandB

A group of 10 boys
diflbrent diet B fbr a

increase in weight (to os : 2.12)

co57 L2b. 4

(

-)

25

4

5

9.49 far 4 difl
o. ofheads 0 I

offit
are obtained. Fit atossed 100

c{istribution for

5 36

following
and test the

cos7 L3faced 'die' an odd ttumbcr turncd Lrp l8l tirrres. Is itln 324 throrvs
reasonable the 'die ' biascd one.

i 
"c&"*.!B;

,.,.:.,:t l' '::t:

;w?

3 o[3

0<x<3
15 a.D.O1r.

Otherwise , '
-..r .a:i

fq -.. rhij'

ti& '4'

x

0

'l'ype-l

unbiased one.

diet A and another group of 8 boYsona
period of 6 months recoverecl the tbllorving increasc' tn

'.'e

2
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ONE full question

outcomes.

frowfudtlt

t,
'ti''

module.

4. Mathematics hand book is

' )F!

,:M:ffiifl

CM LI

6 71 2 Jx 0

0 k 2k

L2 co16
a.

for variable

(r)
(il)

probability

k&,

A Random variable X
values of x.

x>6) and P(3<x
ofk.

Q.1

L2 co27varlance ofb. Find the
co27 L3

c. Ina

(ii0

withdistributedexponentially
last forwillshowera

OR
L2 co16

a.

),"" Y

,t ,.,,4
:'qfrlw'

\,nP(x < 2)

density

x'- / )Evaluate (i

P(x) = Find the
0

A random has the

Kx2 -3<x<
Q.2

b.
L2 co21

respectivel! in a consignment of 10,000
.i

o defective.

of
is0

(,

of 10,
blades,Ina

blades are supp
number o

being defective
distribution

(d$ One defective

packets.
Two

7 L3 co2
an average life of 2000 hours and

firm purchases 2500 bulbs find the

number
(t)
(ii)
(iit)

(Given

that the life time of a particular

for

hours.

a.2967)

In a test on bulbs, it
tedbrand was
of 60standard

c.

"$#*
"&h--.,w

1 of4

ffi

2k.P(x)

athe duration
What is the

10 minutes or more.
Less than 10

Between 10 and

0(1
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Module - 2
6 L2 co2Q.3 a. The joint probability distribution table for two

as follows :

correlation coefficient between x and y.

xandyis

x and y.

5

x
0I

2

Y 41 -1

0.1

0.2
0.2

0.1

Determine the pro

7 L2 co3b.

010
lll
623

1l
LI0-
J5

fixed probability v,t*tor
\11

, :+:: ;$i. .1.

-t 
' 

l[li'

r .\s

R ;i:
11'tr

..,,,"''*$$

A

Find the unique for the regular stochastic rnhtrix

L3 co37c. the
the
the

6 L2 co2Q.4 a,

X and Y.
depeqdent.

r$

of

of twoThe joint probability
where xis given by (x, y)

0<x<2,0<y<3.
(1) Find the of the constant
(ii)

and Y are(iii)

7 L2 co3

b. Find {h que

:::,,

'li:::::::,

probabi[ifu*ector

'e\ffii'

..:::,,
ma{itx'Pfixed

0

,,s

W.*" 010
for the 001

11
22

co37 L3cdL

r'i

first car
(i)
( ii)
(iii)
(iv)

Dzirqi,or
. Eind the

Each year
company.

a man
If he

trades it for a '
for a new ' a'Swift' one. In 2020he bought his

probability that he has

2023 Dzire.
2023 Wagoor.

orfota'

Wagnor
Swift.

'Wagnor'

dule - 3Mo
6 L1 cosQ.s a,

(i)
(i,)
(iii)

Explain

" 
l(,"*ueu

.,i!*,,.iilsw.,'

2 of4

0.3

0.1 ',,,6'

Obtainlthe

-j :::aJ

&***j
.-i' "iti=.,.

"$.&." =

B has the ball.
C has the ball.

(il)
(nr)

the

for significance.
region of statistical test.

Hypothesis.
terms:
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b. ht 324 throws ola six laced die an odd number turned up l8l times. ls it
reasonable to think that the die is an unbiased one at 5oh level of
signi ficance?

7 L3 co4

One type of aircraft is found to develop engine trguHeiffl
total of 100 and another tlpe in 7 flights out of a tUtal 200
significant difference in the two tpes of air@ffi6 far
are concerned? Test atSYo significance levffi,*"*"

5 flights out of a

flights. Is there a
as engine defects

7 L3 co4

OR
Q.6 a. Define

(i)
(i0
(iii)

Null Hypothesis.
Significance level.
Type I and II error

"fu*-*i'

i$

6 L1 cos

b A coin was tossed 1000 times and head turns up 540 times. Test the
hypothesis that the coin is unbiased at lok level of significance.

7 L3 co4

7 L3 co4c. In an exit poll enquiry it was revealed that 600 voters in one locality and

400 voters from an other locality favoured 55% and 48%o respectively a

particular party to come to power. Test the hypothesis that there is a

difference inrthe locality in respect of the opinion at 1% level of
significance.

Q.7 a. having
find the

6 L2 cos

b.
that the performance
ofbatsman B? Use 1

B
40
60

runs scored by

50 3s
70 40

The following data

of
A is more

,,,i11

70 65 55

Can it
than the

:7 .8

7 L2 co4

c.

=9.49 for 4

results
the

I J

5 29

( freedom)

S.

2

3

Fit aA coins are

binomial
00 times and
for the data

Number
6

7 L3 co4

,,:::::::::: :::,:,,i OR ;;-,,:,,,,,

a;::.:::.

:,, ,,.,,,,,..-

,,::::::::,,

6Q.8 0, 12, }.6&,-19
6.2$&ffind at

q#q

is a sample taken from a normal population
95%o confrdence interval for the populationvanance

mean.

that 1 L2 co4

7 L3 cosb. from a population and their heights
67, 68, 69,70,70,7r,71. Test the

of the universe is 66 inches. (Given

choosen at

in to be 63,
h the mean

to.os = 2'262 for 9

The indi

7 L3 co4c. results of 500 students war made. It was
failed, 170 had secured third class, 90 had

and 20 had secured frst class. Do these figures
result which is in the ratio 4 : 3 :2 : 1 for

(Given Xtr.os = t for 3 degree of freedom).

A sample analysis
found that 220
secured
support the
the resp

3 of4

c.

A random
mean ll)
probability
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Module - 5
Q.e a Three different kinds of food are tested on three groups 5 weeks. 10 L3 co6The objective is to check the di{ference ln mean grams) of the

rats per week. Apply
the following data :

one-way ANOVA using a 0. level to
,:iI

Food 1 8 12 19 8
Food 2 4 5 4 6 7
F,ood J 1 1 7 9

b. Analyze and interpret
per field obtained as a

the concerning 10 L4 co6
result of conducted to test

of wheat viz. A, B, C, D under
W

Jft.:-e$m,*{

v

A
20

D
20

D
t9

C
2t

B
18

,,,#

t9
" 

qdffi,
-{ {

.d{ d$ ,^,sdB
t9

A
t4

D
t7

C
20

D
t7

C
20

B
21

..1:t

OR
Q.10 a. Set up ysis of variance table following per acre production I 0 L3

data varieties of wheat,
co6

on four plots and state it the
are 5% significant I (Two way

)
Plot of acre

V of
A B
6 5

7 4
J aJ J

'- *]mrW'S
;"! ':'/
'q#:y'

H
4 8 7 4

b. for the information to three drugs 10 L4 co6
in reducing for three

le

Z
A 1l

119
B t2

il
7

8

10

ll
l0
1l

11

1l
8

7
Do the
Are the different
Is the interaction

affected differently?

Answer the above taking a significant level of 5%?
*****

j,tN.liti$Etiii

"&,,'

n'liilir.id$rli:l

4of4

8

output
four

Set up ANGVA
the
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M L CModule r'I 'w,'

10 L3 co1Q.1 a.
':.:r:lli'"':::

.., 
''i 1r,,,""'

,'rill($wffi
v

a Karnaugh map.Obtain a minimum
x'z'F(w, x, y, z)

10 L3 co1b Find the minimum sum of products flor

map
i) F1(a, b, c) = Mo + M2 + Ms * Mr,

rit Fz(d, e. f) = Im(0, | .2. 4l
iii) F3(r, s, t): rt' * r's'* r's

.sr [-.-.....i1

""*;

each function using a Karnaugh

OR
10 L3 co1Q.2 a. implicants and essential prirne implicants of the

c. D): I (r, 3,4, s, 10, I

Y, Z) : I(0, l, 2, 5',7., 8,

1,12,13,14, l5)
10, t5). .q\ "

,f-".$i$r*'

i)
ii

Identify

x,

5 L2 colb. dataflffi

if

,:1:

usmg

L2 co15c.

Fig.Q.2(c) ilhi;
tr. 'Sli

,s 4'
B

given circuit with
of30ns and l0ns.

for the

a delay
code and time

the AND,propagation
Write the

Module -
10 L3 co2S-R latch using NOR gate

equation.
neatWhat is

Derive
Q.3

10 L3 co2b What is priority encoder? Design
diagrams.

4:2 pio''ity encoder with necessary

OR
10 L3 co2Q.4 a. Design and explain fo:rr 6it adder with carry look ahead.

10 L3 cozb. Design 9:1 mux using 2:1 mux.What is

I of2

,,s

,{I i"
dr\U\$!ri6ii:

ffiffi

multrplexer?
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Module - 3

Q.s a. Explain four types oIoperation performed by computer with an example. 10 L2 co3

b. Show how below expression will be executed in
zero address and three address processor in an
X:(A*B)+(CxD).

one two address
organization

10 L1 c03

OR
Q.6 a What is addressing mode? Explain

an examples.
--differep,,f es

::::::: i:

of addressing mode with

.;

10 L2 co3

b. With a neat diagrarn, explain basic operational concepts of a computer 10 L2 co3

4

Q.7 a.

" (r\'."

Explain the following with respect to
i) Vector intcrrupt
ii) Intemupt nesting
iii,1 Simultaneous request.

interrupts with diagram. 10 L2 co3

b Explain Direct Memory Access with i near ALagra,n l0 L2 c03

OR
Q.8 What is Bus arbitration? Explain different types of bus arbitration. l0 L2 co3

t0

le-5
Q.e data path 10

b. L2 c03

a. bus L2 co4Draw and explain the
processor

b List out thc actions needed
and explain the sequence of

write
control
to execute 10 L2 c04

Q.10 a Analyze how instruction carry out.does execution 10 L4 co4

b. What is pipeline? of pipeline with an example.

,i

10 L4 co4

'' 
l::,,,, ,

s,. [ .-,

2 of2

s
a.

Discuss different tlpes of mapping functions of coaches.

ADD 1

execution

Exp lain the performance

.sr 
.

tl
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Note: 1. Answer uny FIW full questions'

2. M : Marks , L: Bloom's level , C:

M L CMo
5

L2
LI, co1Q.1 a. Operating System. Explain dgal mode

., "'!i,

diagram.of OS with a neatDefine

10 L2 co1

sSntem.
i) Multiprogramming and
Distinguish between the fo

ii) Multiprocessor

b.

5 )L1
L2

co1c. With a neat

architecture.
diagram,,'eiptain the concept the conc.ept of VM-WARE

OR
5 L2 co1Q.2 a. Explain the to programs and userssystem servlces

5 LI,
L2

co1b. the differentList

10 L1,
L2

colc. calls? List and the different typ calls.

_,
state 8 LI,

L2
co1Q.3 a. states of aDefine process. Explain

8 LI,
L2

co2b. What is IPC? Explain direct
message passing.

and indirect communication with respect to

c. Explain 4 L2 co2

'::

6 L2 co2Q.4 a. of multithreadedWhat the-threaded

t4 L3b

J

4

2

1

P2

P3

P4

9

5

4

9

q = 2ms) and

time Poro

time and
using

Arrival time
0

I

preemptive, SRTF,
turn around timethe

the
c02

Module - 3
8 LL,

L2
co3a. What is critical section? What are the requirements for the solution to

critical section problern? Explain Peaterson's solution.
Q.s

12 L2 co3b riter's problem using semaphores.Explain

I of2

qm$
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OR
Q.6 a, What is deadlock? What are the necessary conaiiion;Eallrel;41".k

occur?
to 6

L2
Ll, co3

b. t4 L3ofa
Allocation

be granted

Max

PO J

6

B
a
J

C
2

D
I

A
2

B
0

C
0

D
1

A
4

B
2

C

I
1

5

6
4

P1 3121 52
2 | 0 3 2

1312 1

t 43 2 J

Process

the fo

give the safe seq

P2

P3

P4
Answer the following using

l, l, 3) resource can

i) Is the system in safe
iD If process P2

immediately.

c03

Module - 4

Q.7 a. What is paging? pagrng ware with TLB?diagramneat 10
L2
Ll, co4

b What are
available

a free hole from they used 6 L1 co4

c. in detail. 4 L2 co4

Q.8 a. With a neat diagram? fault.steps in 8 L2 co4

b Consider the page reference string:
2, I for a memory with 3 fiames.
using F1, F0, optimal and LRU
moreefficient. r.:'.

1,0,7 , l, 12 L3 co4

5

Q.e a. and explainDefine file operations. 10 L1 cos

b. different 10 L2 cos

OR
s.
t\ffi
v'

Q.10
as objects and its

of system
lementation.

is Access
with

10 LI,
L2

co5

b. A drive has 5000 cylinders numbered 0 to 4999. The drive is currently
serving a request 143 and previously serviced a request at 125. The queue

of pending requests in FIFO order is:

86, 147 0, 9 13, 17 7 4, 948, 1 509, 1022, 17 50, 1 30 starting from current head
position. What is the tqtal distance travelled (in cylinders) by disk arm to
satisfy the requests using FCFS, SSTF, SCAN, LOOK and C-LOOK
algorithnr.

10 L3 co5

*)k***

" \#ffif**,* - ,,&

o: Y

,!il\

2 ofL

Explain fragmentation
,n,..r,,'-

!

which hlgorithm

i 
.:,

IS

3,2,4,'0,.3,'6,
of page faultsnumber

2,3,0,
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full questionfrom each module,

ffi._, l

M L C

10 L2 co1Def iue I)iilit,'r i-t'u uiL, ics. I:.'iI : i,,

datt stl'Ur'ltil'r' j \\:'l rnti'1' '

perfornre d'/

Q.1 a.
prirniti

schematiciock
VC can be

of

5 L1 co1b. Dilfercntiala i-,s111,r':r11 strr.rcrt'r: r:. rrrLi :ririi,.il sltown examples for both.

5 L2 co1c. What ilo yoll mcirr by.p;rlli:rir irltlcliilr'l Outline knuth, Morris, Pratt
pattern nratching al3oritl-ul

oll
L2 co17Q.2 a. Define stack. GiVi the ir-nplenrentatiot'i o1'l'ush e), POP ( ) and display ( )

functions Uy coit:dciing iis cnrpi.l arcl lirll conditions.

7 L3 colI). Write an algor'ithn-, to evaluatc a poslfi:i c,xpression and applythe same for
the givenpostlix cxpression 6,2. i.3, , '1,', *, *

6 L3 co1c.

-

Writdi'the Postflx lbrm ol thc iblicr-ring Lrsing stack :

(i) ,f ilBxr'--D*[) - I ii,r (a + (b*c) A(d-i))

l,todulc - 2

Q.3 8 L2 co2thea. 0r il0Lt :?0What ci isthe vaacl r cl inary qf)

CTTCLIof lar L\l 1 tlqu

6 L2 co2b Write a note on mLrltiple staci<s atitl prioritv qLreue.

6 L2 co2c. D"fine ql,.*Lji.ri,,uss i,,.r,,,' i, r'r''i '..is,.rirl cr:-'uc Lrsing dlmamic arrays

4 L2 c02Q.4 a. What is a linlred lisil Eip ., i ,iri,,-r ri tlpes of linked lists with neat

diagran-r. . Li 
;,,,

8 L3 co2b Givqtlle,sfructure definition {br singly lirked list(S,p$. Write a C function

.,,(i) Insert on element at thc encl oi'SLL.
- , (ii) Delelc a ttodc at l)i: hr:L:itrring oISLL.

I
8 L3 co2

p
mials show the linked list

P(x) = 3x 14

po

ie ls

Itlttoaclrl

two i)il]\rrl Iiloreprescntattoir

q(x) =

+1

rite a C-

l1) rn 6+ I (]x

' N,loclule * 3
8 L3 co3Q.s a.

8 L3 c03b.

th' ,i: : , rrg o1':ralions on Doubly Linked List

thc 1i i , '.r , rir,.:r'r.ti.)ns on circular linked list

a cle

of tu,o DLL

Finding the length o1'a circular list
at the liont o {'a list

Write C
(i)
(ii)

(ii) co

(i) acidition o

Writc a C-lirnctio:r
(DLL).

ii f

1oi'2

,GE)AT.Q
'tr$9NJ,

type

: 
$','l$'



c. For the given sparse nratrix, girrc tirc i-l ilrrt, ':rir:li- lrrkcrl :'cpresctttelion. 4 L3 co3

A_

2000
4003
0000
8001
0060

,i, ,, ':::;'

clr
Q.6 a, Discuss how binary tree are reprcscri'.r.1 iii. ,:r

(i) Arrav (ii) l.ir,i:t,,: , ,

6 L2 c03

b. Discr,rss inorder, preorder, postolclrr lrrtri

recursive function for each.

luvel t,i-rlcr trarelsal witlr suitable
...i)

8 L2 c03

c. 6 L2 c()3

ule-4
Q.7 a. Write a

(BSr):
(i)
(ii)

function tr: o lurg 0 pefa trons op Scarcli Tree 8 L3 co4

Inserting nt0 ll S 1'

o f tl ll S
't'

b Discuss se s with an cx:rrr: l,l 8 L2 c04

c. Explain a frst into a iilr au cxrrrrple. 4 L2 co4
olL

Q.8 a. Define graph. Show the
of the graph given below

adjacenc and ad.j acency liqfrlepresentation

,,,a, ,.1,"

.. . ilr. ,
n t'......

JT

8 (a))

*, Eil;i{''i

^$ Fig. QS

6 L3 co4

b Define the
(D

(ii)

follor,villg
Digqaph
Weighted
Self loop

Terminologics',,iil,,

graph

xample s,
''l&".,'

p'

(

Parallel edges

h operatiirns

8 L1 co4

c. 6 L2 c04
Ntoclule -

Q.e rs collision? afe the mcthods to resolve coliisjon? Explain linear 7 L2 cos
probing with e.

b Explain in static ancl anl ic hashing. 6 L2 cos
c. Discuss with an e. 7 L2 co5

soR
Q.10 a. Explain different types H lLinction *,itli example 6 L2 co5

b Discuss AVL tree rvith an exaur1,i.' ,', ri r i'ii,'rr lor inserliort i:rlo itrt
AVL Trce.

Splay trcu. l',,sr'ii, 'lr': ,L,cLlrocl irl inselt ln element

6 L3 co5

c. 8 L2 co5

2 ol2

BCS304

Define Threaded Binary Tree. DiscrLi::; i:- I lircr,rlur.i biniii 'u' 'l'ree.

in detail

Define Red-black Tr
into Red-Black tree.
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Third Semester B.E./B.Tech. Degree Examination, Dec.2023 I J an.2024

Object Oriented Programming with Java

Tinle: 3 hrs. Max. Marks: 100

^'()te: 
l. rlls*;er ur.t I:ll/E Jitll questiorrs, clnosittg Ol{8./itll rluestiorr.frotrt cuclt ttrttdulc.

2. NI : tllurlis, L: Bloottt's lcrel , C: Course ottlcontes.

co1

co1

L2 c()1

co2

L2 c01

)'lodule - 2

col

co2

OR
co2

co2

lntcrpret rvith an cxuurple, tytes of construte tiotts 4 co2

ocl lc*3
lllLrstrate the o l' sLrper in Java with sLritable exarlple. r\lso 10 co,3
explain the ic method clispatch.

0tt

c

b.
- -- -- 

-t--BLrilcl a Java progralr to crcate an interlhce itesizable witlt tticthttci rcsize l0 co3
(int radius) tirat allolv an ol-rjcct to bc rcsizccl. Crcatc a clzrss circlc tltitt
inrplenrents rcsizable intclfircc ancl iurpletncttts tltc rcsizc tllclltod.

OR
Courpurc atrd conlr
suitab le cxarlplc.

ast mctirocl ovcrloacling and trctltocl ovcrritling rvith co2

1 ot'2

NT T, C\lodulc * I

L2clata tlrpes sr:pportecl by .lava alorrg with thc clclirtrlt tta Discr"rss tlrc cir f'ftrcnt
valr,res ancl litci"al s.

Q.l

6 L3 co2b lop n Java prosram to contrcrt CclsiLrs tclnperaturc to FahrcnhcitI)cve

6 L2c. .lustify ti'rc statcntcnt "Colnpilc otrcc and run any,vhcre" it'l .Java

0l{
8Q.2 List the various olleratols sr,rpportecl by Java. HLrstratc tltc rvorl<inu o[-:'>

11pql --,>> opcrators r,r'ith art crantplc.
a.

[.3De velop a .lava pr o{lrillt'l to atlcl lwo tttatrie u's ttsittll col'111',,'r'",.1 Iirlc

ir r'!.tr tr rc n t.

c. Iixplain the s1'ntar oldeclaratii,.n of 2D arrays itt Javit

b

2

62l tltc 3t SI nlvi ab

10

Jrva Garbage' collection nrechanistn L2Q.3

L3grarn to lind
rocl ovcrloacl

a o1'rectanglc, arca

concept. Call thcsc
1 0b arc

1r.)g

Dcl'clop a .lava pro
trianglc usinu rrcth
ntcthorl wtth sr-ritablc inputs.

of circlc and

mcthocls lio

co2L,2

t,2Q.4

lntcrprel thc gcneral firnl o1'a class with exittlplc

OLrtline the lbilou,ing l<eyu'orcls u,itit an e'xanrple

4c,

6a

(i) this
(ii) static

L3a Javir pr()griln'r 10 ct'eatc a class callccl 'Erlploycc' ii'ltich cttntairtsb

( ) as nictho
on frorl r.r.rzrin

t)
'basic salary
tJsing this

' as instancr: r'lriablcs ancl'narl]c , 'de signation'" 'ernpicl' and
rcacl():rndri,ritc cls, class. r'eacl and u'ritc llvc
emplovcc infirrntitti ( ) nrcthocl

10

L2

T,2Q.s

L3

Q.6 il 8 L2

I

I

generatiorrs o1'.lava heap.
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b Deilnc inherilance ancl list thc drl'lerent t)?es olinheritancc in .lava. 4 L2 co3

c llLrild a.lar,a prograrn to create a class nanred'Shape '. C'reate 3 sub ci:rsscs

namcly circle, lriangle and square;cach class has 2 rnethods narncd clraw
( ) ancl crase ( ). Denronstrate polyrorphisrn concepts by devcloping
sttillrhle rtrctltocls arttl rnairr pruslarn.

8 [,3 co3

Module * 4

Q.7 a Exiinrinc thc various lcr.cls of access protections availablc for package s and
therr implications rvith suitablc cxanrplcs.

10 L2 co4

b. Build a Jar,'ii;rrogriiur for a banl<ing applicatron to throrv an crccption,
u,hcrc e pcrsol'r trics to u,ithdrari,tlic anroLrnt cvcn thorrgh l-rcishc lras lcsser'

than nrininrLrrn balancc (Cre atc a custonr cxccption)

10 t.3 co4

ott
Q.8 a. De ilne llxccption. Explain E,xception handling rnechanism providcd in Java

along rvith syntax ancl example.
10 L2 c04

b. Builcl a Java prograrr-r to create a package "ber]ance" containins Accourrt
Cllass vi'rth clisplavBalanccr ( ) ntcthocl and itlporl this pacl<agc in anothcr
program lo access nrcthocl o{'Accolrnt Class.

10 L3 c04

Mod Ie

Q.e a. Dcl'inc lr tlilcacl. ,,\lso clisclrss the clil'l'crcul wavs of creating u thlciicl . 6 t.2 cos

b IIorv synchronizution
rvilh an cxanrple.

achicvcd bctvn,ccn tlrrcacls in .lava'l Ircan bc xplain 6 T,2 co5

Devckrl"r a -lava prograrn tbr autonratic
ir"tto corrcsponcling prinritivc tyte that de

convcrsior-r of r,vrapper class tyrc
luroustrates u nbox i ng.

fl I-3 co5

OR
Q.10 a. Stunlnarizc thc lypc \\/r'appcrrs slrllllorlecl in Java. 6 L,2 c()5

I:rplain i\trtoLroxincr't-lnboxins lhat occrurs in crprcssions ancl opel'ittors. 6 t,2 cos
c. I)evelop li.lln,a progrurnr to create a class nry'lhreac1. Clall the base class

constrllct()r in tlris class's constnrctol using sr-rper and start the thread. The
rr,rn rnethoci o1'the class starts alier this. It can be observecl that both rnain
threacl ancl created chilcl threacl are erccuted concurrently.

tt I,3 cos
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